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1. Use identities to prove ““=(p —= q) = p A-q”’
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2. Use identities to prove ““(p Aq) — (p V q)’’ is a tautology.

(P/\%) —= (pvp) = T (pAgd v (pvid

EC—IPV"I z)\/(PV%ﬂ
(‘lP\/P ) V4 Lj%\/

i

= T v [
= 7

—_
—_—

De Hovémmfs

on s SoLEfR. andl
CO WA T .

‘6,)
V\tgodﬂv\

AowminodrTon

3. Group III of the logically equivalences: Identities related to biconditional statements.
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4. Predicate logic and Propositional function:

The }Ieal\[m'lg (c_ allows variables in propositions and enables us to reason and

explore relationships between objects. A fPr—bP QSF[[:{(MQI :E(,mfj [.-m is a statement with

variables and has been used on predicate logic. Once the values have been assigned to

the variables, the propositional function becomes a 112@ POQ !}ANO)A s
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5. Let P(x) denote the statement “‘x > 3’’. What are the truth values of P(2) and P(4).
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6. Let Q(x, y) denote the statement ‘‘x = y + 3’°. What are the truth values of the propositions
Q(1,2) and Q(3,0).
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7. Given a computer programing ‘‘If x > 0, then x := x + 1”’. Using the terminology of
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propositional function to explain it. /r
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